‘52 6 A Day LITE January 19th

During which stage will the CPU
get an instruction (or some data)
from the RAM?

The purpose of the RAM is to store

This device is not needed to form
a local area network, but is
needed to connect a LAN fo the
infernet.

How many bits are used to
represent each character in the
extended ASCIl character sete

A text-based way of describing a
program, that does not require
any strict programming language
syntax, is known as...

If you wished to add data to a
database, you might use the SQL
statement
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‘52 6 A Day LITE January 19th

During which stage will the CPU
get an instruction (or some data)
from the RAM?

Fetch

The purpose of the RAM is to store

...the programs that are
currently in use / running.

This device is not needed to form
a local area network, but is
needed to connect a LAN fo the
infernet.

Router

How many bits are used to
represent each character in the
extended ASCIl character set?

8 bits
(1 byte)

A text-based way of describing a
program, that does not require
any strict programming language
syntax, is known as...

Pseudocode

If you wished to add data to a
database, you might use the SQL
statement

INSERT
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